0000000 14002009/07/1600000

oo 0d

1] (DC0C00O)00 X0O20000000000000 ~00003000000000000
bbb ~000000aoo

(HOOO z~z (VeelX),
(2)000 z~yO0O00y~ax (Vo,yeX),
(

3) 000 (Vz,y,z € X) |

o0 Xooooo ~00boboboo C(a)[a]DDDDXDDDDDDDDD]

2] Z/mZ ={[0],[1],...,[m—1]}00000000[a)l=a+mZ={a+mn|ne€Z}=ald000
000000 Z/mzZ0O020000000 +000 -00000000000

[a] + [0] := o la] 0] =

000000000000 =[]00 =000 [a+b=I[c+dD00 [ab] = [cd]

gbgboboogboobooobod (wODOOOOOOO)ODOoooooo

3] (z/mZ, )00000a=[e00000000000000

m = m =3 m =4 m=2>5 m =06
. 313315
__ _ jo133 A0 12345555000
-\01 2 —1—— - - " 0l/00 000 =-|=2 2 = =2 2 =
-t — 0/O0 O O 0 === < - - 2 1101 2 3 4 5
00 00 2|- - 22 T|01234 |- 2222
- = = = 1101 2 3 |- = = — = 210 2 4 0 2 4
110172 2|2 =22 3|002113 2|2z222=2:°2
§6§T20202§6§TZ§3030303
3lo3 21 202122 10120102
5105132321

DDDDm:2,3,4,5,6DDDDZ/mZDDDDDmD Oooo0on

[4] (Z/mZ)* :={[a] € Z/mZ] ged(a,m) =1} 00000 ((Z/mz)*,-)000 (m)00000O0

0000 ((Z/mZ)<, )0 . o(m) O 0o0ooon

©(2) =1, p(3) =2, p(4) =2, p(5) = 4, p(6) =2, p(7) =6, p(8) = , (9) = 6.

5] (COODODODOOO0O0)00 pO ged(a,p) =10000 ecZz000000000000O

a?'=1 (mod p).

(1)3%0 110000000 . (2)5¥0 110000000




